HHETIZR T 2 BRITAIT R D50 - B - EiE —&

T 4 S 51155 D 44 RIS (R ) T
R ESH R E KN T T
I e e e g (1) FEHERNED SN TWD O XE 1,000 m Ll - St e
=3 *AY =0 vAS % =1 A ) 7
AT PRI A 58 R (9) FAHHR A3 LT U s DR 700 bl L | i o
A EE XA 10,000 m A -
SERT | & R A gﬁ% gﬁgﬁﬁi s
ST | A T R 4 gﬁ% ;%g%ﬁi s
e EH IR . - DL oy M a2
— P s 1,000 miPA EX0X. 4 FLL E ok HATH R
- T FERT B AR B A W T E e mfE 10,000 mLL B, 10,000 mLL FTdh o T b B —
CER BRI K S I Z S KD % RIET LRO LMD H D s
_ PN ST i R 5 e e i " . IS
S 1 e e R
- ZORRT - HIBE RS 2 O T " . s
— KT B4 7 b S 1,000 niLL | R
5T+ HiBE s S 2 O o 5 - N
RS A5 7 2 p T 1,000 nmi L E R
0 ) || T2 5 D B e 2 10 . . o e
\’jla == == /ljj: —Ez‘é
) 1| T B 7 45 4 [HIFE 1,000 mPA B X%, 3 FLL gk FHI s

Rk 27 4E 4 A 1 HEIE




